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Unit 8 Review Circles . Date { Period

Matching: i
. :’fﬂ fl;se| .clr-cle O to name the following parts. Put the CAPITAL letter of the correct
answ e line. None of the choices will be used more than once.

—’L 1] AC A] radius
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- __~ 4] ZACB D] central angle
) C 51 scad E] chord
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__C’__ 71 AE 6] tangent
\’\ 8] BC H] minor arc
. ‘ A 9] OA I] major arc
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-~ 10] BDC J] semicircle

5\ . ‘* 11] If. the radius of acircle is 5, what is the circumference? 0? 2. \%- S

ézé—;\j_lzl If the circumference is 80, what is the diameter? ¥0~= o B Rkl

r=13.1 fo= by
o= 5.4 VRS (o-2¥
U 1.0 5U 13] If the radius of a circle is 14, and the measure of arc ABC = 250°, find the length of

arc ABC. %%Z >(~o'2 BH \\‘h

14] If the diamefer of a moon is 2548 km and an orbiting lunar station is circling 32 km
above the lunar surface, find the distance traveled by the lunar station in one orbit. -
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\! For problems 15 - 32, find the indicated value. Assume that lines that appear to be tangey,
\ are tangent. D%
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Use circle C to find the indicated measures. DB is a diameter. 6K is a tangent.
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31] mDH = O\D
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33] me2= 9% — o
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